ALGEBRA

CHAPTER 9-3
NOTES

Multiplying Binomials
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In order to multiply binomials, we need to make sure that we multiply all the terms.  
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We will then combine the “like terms”.
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This is a 2nd degree trinomial

Multiply.
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Using FOIL

F –  Firsts
O –  Outsides
I –  Insides
L -  Lasts
This is a way to remember to multiply all the terms.
Firsts describes the first term of each binomial.  (3x & 2x)

Outsides describes the two terms on the outside of the problem.  (3x & 5)

Insides are the two terms in the middle of the problem. (4 & 2x)

Lasts are the last term of each binomial.  (4 & 5)
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After combining like terms:
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Find the shaded area.
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To find the shaded area, we first need to determine the area of both of the rectangles.
Large rectangle



Small rectangle:
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To find the shaded area, we now need to subtract the area of the small rectangle from the area of the large rectangle.
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We can now prove that this is the “shaded area” by picking a value for x.  For this example, we will use x = 3.

The length of the large rectangle is 
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The width of the large rectangle is 
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So the area of the large rectangle is (8)(8) = 64

The length of the small rectangle is 
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The width of the small rectangle is 
[image: image18.wmf]3

x

®


So the area of the small rectangle is (4)(3) = 12

The shaded area is the difference of the two areas, or 64 - 12 = 52

Using algebra before substituting, we found the shaded area to be
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Find the shaded area.
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Large area


Small area


Shaded area
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Prove using x = 4

Large rectangle area:
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(5)(6) = 30

Small rectangle area:
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(4)(2) = 8

Shaded area:


30 - 8 = 22

Using algebra solution:
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Multiply.
To multiply a binomial and trinomial, you will need to multiply all the terms.  There are two ways to view this.  
The first one is called the “horizontal” method since all the terms are written horizontally.  Like terms are then combined and the answer is written in standard form.

The second method is called the “vertical” method since all terms are written in a vertical manner.  Like terms are put “on top of one another”.  This method may be easier because you can see the like terms to combine.

Both methods are illustrated for these examples.  It will be up to you to decide which method works best for you.

Horizontal method:
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Vertical method:
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Horizontal:





Vertical:
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